Te[l)iota P o Tell)iota - l B I Tell)iota A o
233 0,145 0,00347 281 8,2 0,063 329 126 0,487
235 0,178 0,00402 283 9,39 0,0696 331 138 0,521
237 0,219 0,00465 285 10,72 0,0767 333 152 0,562
239 0,267 0,00538 287 12,39 0,0855 335 166,5 0,599
241 0,323 0,00623 289 13,94 0,093 337 183,3 0,645
243 0,393 0,0071 291 15,75 0,102 339 200,5 0,691
245 0,471 0,00806 293 17,87 0,112 341 219 0,741
247 0,566 0,00921 295 20,15 0,1227 343 238,5 0,793
249 0,677 0,01043 297 22.8 0,1343 345 260 0,841
251 0,804 0.01168 299 25,5 0,1453 347 283 0,902
253 0,9 0,0134 301 28,7 0, 1595 340 306 0,965
255 1,35 0,0151 303 32,3 0,174 351 335 1,023
257 1,35 0,01705 305 36, | 0,189 353 363 1,088
259 1,59 0,01927 307 40,5 0,207 355 394 1,148
261 1,868 0.02165 309 45,2 0,224 357 427 1,205
263 2,188 0,0229 311 50,8 0,242 359 462 1,25
265 2,55 0,0271 313 56,2 0,263 361 501 1,29
267 2,99 0,3035 315 62,7 0,285 363 537,5 1,327
269 3,48 0.0338 317 69,2 0,31 365 582,5 1,381
271 4,03 0,377 319 76,7 0,335 367 624 1,405
273 4,67 0,0418 321 85,3 0,363 L 369 612 1,445
275 5,4 0,0464 || 323 94 0,391 1 371 125 1,487
277 6,225 0,0515 325 103 0,422 373 776 1,59
279 7,15 0,0571 327 114 0,454 375 1093 2,62

Vlhkost plynu

U=A/p+B ,g/m’
p —tlak, MPa



